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BERR Pk B Bt OBER k& it
SIEHEREWTIX ODINKF & HA &5 5,
OHEKEHESE s=1:1041)
WEZT )
| WX X 1]
7 Y I /;4 -
— 14— 2o
)4 o7, 065, 640
X »E%qf:m{
[ 5 065, 04
WE e
07, 065, 04
K E RS 10hPRFEY
2 o3 = ] #* B wE
VU F LA ®75, ®50 ] 20
VUE @75, ®50 m 1.4
LR A 10
EIZI 1:1 m3 0.01
HEKE & B B A BRSO B & AT
FHEEE X KD
675 N= 7K N 7
6 50 N= 4 K N 4
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feim

Hom s

1 iER 3 Wr o R 253 i A B Wr T A S 243 i A B
NO. (m) (m2) (m2) (m3) (m2) (m2) (m3)
NO. 0 - B - -
NO. 0 0.015
17. 49 0.015 0.262
NO. 1 0.015
16. 99 0.015 0. 255
NO. 1 0.015
3.01 0.015 0. 045
NO. 2 0.015
20. 00 0.015 0. 300
NO. 3 0.015
20. 00 0.015 0. 300
NO. 4 0.015
17.05 0.015 0. 256
NO. 4 0.015
o 1.42
= 1. 42

€-¢ ddvd
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=R k/vi
;&Eu‘f‘ﬁ*a IK%D
% g i i =X B | &
&S E T O & 58 U e
GEFEA) THIE 40825 H > mfE (A)
WMEEmEXH L A= 96. 3 + 4.2 + 1.8 = 102.3 m2 m2 102.3
O#hZERR BT
HiE40825H4¢ TIER (L)
MEEmEXH L L=  94.4 + 1.7 + 2.9
+ 1.0 + 2.3 = 102.3 m m 102.3
Oavz ) — MEEHDEEL M E M LY
0240
FEE (L) W i Ak (A) IFE
94. 4 X 0.04 V= 3.8 m3
U240H3i% L
A=0. 04m2
(CAD3RFR)
B 7 ) — 1 HEL (L) & EX F
94. 4 X 0. 40 X 0.10 V= 3.8 m3
o 7V — MEEYTEE L () GEF V= 7.6 m3 m3 7.6
Oft B M E K LY
TV—FTE L= 14.7+15. 0+5. 0+4. 0+10. 0+7. 0 = 55.7 m
(L=1.0m) 55.7 1.0 N= 55.7 #%¢ e 55.7
SR 25 L= 1.2 m
(L=1.0m) 1.2 / 1.0 N= 1.2 ¥ bi'e 1.2
AL T Oﬁﬁiﬁiiﬁf e .
G OAsEHEERR (t=5cmfB7E)  &HEEE (1) T (A)
0.05 X 102.3 V= 5.12 m3 m3 5.1
@zar 7 — MEED
(27 J— MEEMEIEEL XY) V= 7.6 m3 m3 7.6
OksLsy
DAsEHEER (t=5cmflE)
R (V) hE
5.1 X 2.3 m=  11.73 t t 11.7
@= 7 ) — MEEY (CRELR)
(27 J— MEEMEEEL XY)
0240
HREWL)  EEE (ke/fH)
94. 4 X 0.103 m= 9.72  t t 9.7
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=R k/vi
4 pi g i =K L | &
@z 7 U — MY (JE57)
(27 ) — MEEHTEEL LY)
a7 ) — b
R EE (V) b
3.8 X 2.35 m=  8.93 t t 8.9
&S E T Oz vV — Ml E (REE=10cnx EAE L L THE)
e FEL (L) g (W) FEIE (1) TARFE (V)
(=)
@E-1 4.8 X 0.3 X 0.10 = 0.14 m3
@E-2 1.5 X 0.3 X 0.10 = 0.05 m3
a7 Y — MESYEEEL (8 &% V= 0.19 m3 m3 0.2
Oz v 7V — ML REIET (REE t=10cn% FAE L L THE)
RRIER (L)
L= 4.8 + 1.5 = 6.3 m m 6.3
O vF—ryX U/ HE(EEt=8cnr EAHEE LTHE)
JER (L) g (W) T (A)
) 16. 4 X 0.2 = 3.28 m2
(@15 15.0 X 0.2 = 3.00 m2
(@i 3.3 X 0.2 = 0.66 m2
(@] 9.2 X 0.2 = 1.84 m2
A —ayX I oMmE GF V= 878 m2 m2 8.8
TR L T OBk
(=) oy Y — MY () V=" 0.19 m3 m3 0.2
Oty
a7 ) — MEEY () b FEHE (V) LE
0.19 X 2.35 m=  0.45 t t 0.5
EZEE IR T O=r7 Y — Ml Nms (REE) B .
0 (1 e JER (L) g (W) FEIE (1) TARFE (V)
() @E[-1 4.8 X 0.3 X 0.10 = 0.14 m2
@52 1.5 X 0.3 X 0.10 = 0.05 m2
ar 7 Y — MESYEEEL (8 &% V= 0.19 m3 m3 0.2
OA4vEF—uyx 7 HIBEMRE
JER (L) g (W) T (A)
@5 16. 4 X 0.2 = 3.3 m2
B 15.0 X 0.2 = 3.0 m2
(@i 3.3 X 0.2 = 0.7 m2
(@] 9.2 X 0.2 = 1.8 m2
Ay —myX o 7EIAEE Ai A= 8.78 m2 m2 8.8




- (m) (m)
590 590 / 3000 = 01967 <1/2 500 x 180 = 1,062 1,062 590
15cm 3,000
10 10 / 525 = 00190 <1/2 10 x 180 = 18 18 10
30cm 525
25 25 / 400 = 00625 <1/2 25 x 180 = 45 45 25
15cm 400
z = 02782 <1/2
o = 057/ 02782 = 180
a

(m)

(m)




6 8 1 7 1 31
31 31
31
30
31
30
31 31
184 62
62 184 0.34
-2- -35
-2- -30 120
0.34 x 1.20 041

34 4 |




